

## Disclaimer

The solution at hand was written in the course of the respective class at the University of Bonn. If not stated differently on top of the first page or the following website, the solution was prepared and handed in solely by me, Marvin Zanke. Anything in a different color than the ball pen blue is usually a correction that I or a tutor made. For more information and all my material, check:

<https://www.physics-and-stuff.com/>

**I raise no claim to correctness and completeness of the given solutions! This equally applies to the corrections mentioned above.**

This work by [Marvin Zanke](#) is licensed under a [Creative Commons Attribution-NonCommercial-ShareAlike 4.0 International License](#).

where is Feynman rules is from prop. (PT) Sp. etc. after outg. anti? → doesn't matter  
 scalars, always  
 k<sub>μ</sub> q<sup>μ</sup> to 0 or  
 why is (z=2)?  
 But B=0 as well as g<sub>μν</sub> has to hold?  
 → q<sub>μ</sub> (p<sup>μ</sup>+p'<sup>μ</sup>)=0 and q<sub>μ</sub> p<sup>μ</sup> = 0 w/ u. - u always w/ only 0 needed?

$$\Gamma^\mu(p', p) = \delta^\mu F_1(q^2) + \frac{i\sigma^{\mu\nu}(p'-p)_\nu}{2m} F_2(q^2), \quad i\sigma^{\mu\nu} = -\frac{1}{2}[\gamma^\mu, \gamma^\nu]$$

$$P_2(p', p)^\mu = (\not{p} + m) \Delta_2^\mu(p', p) (\not{p}' + m)$$

$$\Delta_2^\mu(p', p) = \underbrace{-\frac{2m^2}{(d-2)q^2(q^2-4m^2)}}_{\equiv C} \left( \not{p}^\mu + \underbrace{\frac{(d-2)q^2+4m^2}{q^2-4m^2}}_{=k^\mu} \cdot \frac{(p^\mu+p'^\mu)}{2m} \right)$$

We further have  $i\Gamma = i(\not{p}'\gamma^\mu \Gamma^\mu(p', p) \not{p}) G_F(q, r) (-ie\gamma^\mu)^{2-d/2}$

$$\Gamma^\mu(p', p) = -ie^2 \gamma^{\mu\alpha\beta} \int \frac{d^d k}{(2\pi)^d} \frac{\not{p}' \gamma^\nu (\not{p}' - \not{k} + m) \not{p}^\mu (\not{p} - \not{k} + m) \not{p}^\nu}{[(p-k)^2 - m^2 + i\epsilon][p^2 - m^2 + i\epsilon][k^2 + i\epsilon]}$$

and  $p + q = p' \Rightarrow q = p' - p$

$$\Rightarrow q^2 = 2m^2 - 2pp' \Leftrightarrow p \cdot p' = m^2 - \frac{q^2}{2}$$

We will encounter terms like  $\not{p} \not{p} \not{p} = d$  (given)

- $\not{p} \not{p} \not{p} = (2g^{\mu\alpha} - \delta^{\mu\alpha}) \not{p}^\mu \not{p}^\alpha \not{p}^\nu = -d \not{p}^\mu \not{p}^\mu + 2 \not{p}^\mu \not{p}^\mu = (2-d) \not{p}^\mu \not{p}^\mu$

- $\text{Tr}(\not{p} \not{p}) = \text{Tr}(2g_{\mu\nu} - \delta_{\mu\nu})$   
 $\Leftrightarrow \text{Tr}(\not{p} \not{p}) = 4g_{\mu\nu}$

- $\text{Tr}(\not{p} \not{p}) = 4d$

- $\text{Tr}(\not{p} \not{k} \not{p} \not{p}) = 4(g_{\mu\alpha} g_{\nu\beta} + g_{\mu\nu} g_{\alpha\beta} - g_{\mu\beta} g_{\alpha\nu})$

- $\not{p} \not{k} \not{p} \not{p} = \not{p} \not{k} (2g_{\mu\nu} - \delta_{\mu\nu}) = -(2-d) \not{p} \not{k} + 2 \not{p} \not{k}$

- $\text{Tr}(\not{p} \not{k} \not{p} \not{p}) = (d-2) \text{Tr}(\not{p} \not{p}) + 2 \text{Tr}(\not{p} \not{k}) = d \text{Tr}(\not{k} \not{p})$

We will now show that  $\text{Tr}[P_2^\mu(p', p) \Gamma_\mu(p', p)] = F_2(q^2)$  for a general  $\Gamma_\mu(p', p)$ .

$$\text{Tr}[P_2^\mu(p', p) \Gamma_\mu(p', p)] = \text{Tr}[(\not{p} + m) \{ C (\not{p} + \not{k}) \} (\not{p}' + m) \delta_\mu F_1(q^2) - \frac{\not{p}' \not{p} \not{p}' \not{p}}{4m} F_2(q^2)]$$

$$= C \text{Tr}[(\not{p} + m) (\not{p} + \not{k}) (\not{p}' + m) \delta_\mu F_1(q^2) - \frac{(p'-p)^\nu}{4m} F_2(q^2) (\not{p} \not{p} \not{p} \not{p})]$$

as vector ✓  
 → in case of vector obj. in above expr.  
 → Only possibilities; can be seen by NWA  
 trace and  $\langle p | \Gamma^\mu | p' \rangle$   
 Ward id. valid  
 → (0 is and u<sup>2</sup>)  
 → should self-consistent hold w/o those  
 absorb odd factors from Gordon id. in  $A(q^2)$ ?  
 ✓ share from PT?  
 → construct from orthogonal subspace  
 or = d but  
 → kinematics?  
 → Actually  
 it's D<sub>μν</sub> = tr(p<sup>μ</sup> p<sup>ν</sup>)  
 but those D's cancel out after regularization (counter-terms) and that of why  $\delta = 4$  is ok?

$$= C \text{Tr}[(\cancel{p} \cancel{\gamma} p' + k \cancel{\gamma} m \cancel{\gamma} + k \cancel{\gamma} m \cancel{\gamma} + m^2 \cancel{\gamma} \cancel{\gamma}) \cancel{\gamma} F_1(q^2)]$$

$$- C \frac{(p-p)^\nu}{4m} F_2(q^2) \text{Tr}[(m \cancel{\gamma} p' + k \cancel{\gamma} p p' + m p \cancel{\gamma} \cancel{\gamma}) (\cancel{\gamma} \cancel{\gamma} - \cancel{\gamma} \cancel{\gamma})]$$

We will consider the first term of this eq. first.

$$T_1 = C F_1(q^2) \text{Tr}[p_\mu p'_\nu \delta^{\mu\nu} \cancel{\gamma} \cancel{\gamma} + m k^\nu p^\mu \cancel{\gamma} \cancel{\gamma} + m k^\mu p^\nu \cancel{\gamma} \cancel{\gamma} + m^2 \cancel{\gamma} \cancel{\gamma}]$$

$$= C F_1(q^2) \left\{ p_\mu p'_\nu \text{Tr}[(2-d) \delta^{\mu\nu}] + m k^\nu p^\mu (4g_{\mu\nu}) + m k^\mu p^\nu (4g_{\mu\nu}) + 4dm^2 \right\}$$

$$= C F_1(q^2) \left\{ p_\mu p'_\mu (2-d) (4g^{\mu\mu}) + 4m(k \cdot p) + 4m(k \cdot p') + 4dm^2 \right\}$$

$$= C F_1(q^2) \left\{ 4(2-d)(p \cdot p') + 4m(k \cdot p) + 4m(k \cdot p') + 4dm^2 \right\}$$

$$(k \cdot p) = \frac{(d-2)q^2 + 4m^2}{q^2 - 4m^2} \frac{(p \cdot p') + m^2}{2m}$$

$$(k \cdot p') = \frac{(d-2)q^2 + 4m^2}{q^2 - 4m^2} \frac{(p \cdot p') + m^2}{2m}$$

$$= 4C F_1(q^2) \left\{ (2-d)(p \cdot p') + 2m(k \cdot p) + dm^2 \right\}$$

$$= 4C F_1(q^2) \left\{ \frac{(d-2)q^2 + 4m^2}{q^2 - 4m^2} ((p \cdot p') + m^2) - d(p \cdot p') + 2(p \cdot p') + dm^2 \right\}$$

$$= 4C F_1(q^2) \left\{ \frac{(d-2)q^2 + 4m^2}{q^2 - 4m^2} (2m^2 - \frac{q^2}{2}) - d(m^2 - \frac{q^2}{2}) + 2(m^2 - \frac{q^2}{2}) + dm^2 \right\}$$

$$= 2C F_1(q^2) \left\{ (2-d)q^2 - \frac{4m^2}{2} - \frac{2dm^2}{2} + \frac{q^2 d}{2} + \frac{4m^2}{2} - 2q^2 + 2dm^2 \right\}$$

$$= 2C F_1(q^2) \left\{ 0 \right\} = 0$$

Now we will calculate the second term:

$$\begin{aligned}
 T_2 &= -C \frac{(p'-p)^\nu}{4m} F_2(q^2) \text{Tr} \left[ m p^k \delta^\mu \delta_k (\delta_\mu \delta_\nu - \delta_\nu \delta_\mu) \right. \\
 &\quad \left. + k^\mu p^k p'^\lambda \delta_{k\lambda} (\delta_\mu \delta_\nu - \delta_\nu \delta_\mu) + m p^k \delta_k \delta^\mu (\delta_\mu \delta_\nu - \delta_\nu \delta_\mu) \right] \\
 &= -C \frac{(p'-p)^\nu}{4m} F_2(q^2) \left\{ m p^k \text{Tr} \left[ (2-d) \delta_k \delta_\nu - (d-2) \delta_k \delta_\nu - 2 \delta_\nu \delta_k \right] \right. \\
 &\quad \left. + 4 k^\mu p^k p'^\lambda (g_{k\lambda} g_{\mu\nu} + g_{k\nu} g_{\lambda\mu} - g_{k\mu} g_{\lambda\nu} \right. \\
 &\quad \left. - g_{k\nu} g_{\mu\lambda} + g_{k\mu} g_{\lambda\nu} - g_{k\lambda} g_{\mu\nu}) \right. \\
 &\quad \left. + m p^k \text{Tr} \left[ d \delta_k \delta_\nu - \delta_k (2-d) \delta_\nu \right] \right\} \\
 &= -C \frac{(p'-p)^\nu}{4m} F_2(q^2) \left\{ m p^k (2-d) (4g_{k\nu}) - d m p^k (4g_{k\nu}) \right. \\
 &\quad \left. - 8(k \cdot p) p'_\nu + 8(k \cdot p') p_\nu + m p^k d (4g_{k\nu}) - m p^k (2-d) (4g_{k\nu}) \right\} \\
 &= -C \frac{(p'-p)^\nu}{4m} F_2(q^2) \left\{ 8m(2-d) p'_\nu - 8m p'_\nu - 8(k \cdot p) p'_\nu \right. \\
 &\quad \left. + 8(k \cdot p') p_\nu + 4m d p_\nu + 4(d-2) m p_\nu \right\} \\
 &= -C \frac{F_2(q^2)}{4m} \left\{ 8m(2-d)(m^2 - (p \cdot p')) - 8m(m^2 - (p \cdot p')) \right. \\
 &\quad \left. - 8(k \cdot p)(m^2 - (p \cdot p')) + 8(k \cdot p')(p \cdot p - m^2) \right. \\
 &\quad \left. + 4m d ((p \cdot p) - m^2) + 4m(d-2)((p \cdot p) - m^2) \right\} \\
 &= -C \frac{F_2(q^2)}{4m} \left\{ 8m(2-d) \left( \frac{q^2}{2} \right) - 8m \left( \frac{q^2}{2} \right) - 8(k \cdot p) \left( \frac{q^2}{2} \right) \right. \\
 &\quad \left. + 8(k \cdot p') \left( -\frac{q^2}{2} \right) + 4m d \left( -\frac{q^2}{2} \right) + 4m(d-2) \left( -\frac{q^2}{2} \right) \right\} \\
 &= -C \frac{F_2(q^2)}{4m} \left\{ 4m(2-d) q^2 - 4m q^2 - 4(k \cdot p) q^2 - 4(k \cdot p') q^2 \right. \\
 &\quad \left. - 2m d q^2 - 2m(d-2) q^2 \right\} \\
 &= -C \frac{F_2(q^2)}{4m} \left\{ 4m q^2 - 4q^2 ((k \cdot p) + (k \cdot p')) - 8m d q^2 + 4m q^2 \right\} \\
 &= -C \frac{F_2(q^2)}{4m} \left\{ 8m q^2 (1-d) - 8q^2 \frac{(d-2)q^2 + 4m^2}{q^2 - 4m^2} \frac{2m^2 - \frac{q^2}{2}}{2m} \right\}
 \end{aligned}$$

$$= -C \frac{F_2(q^2)}{4m} \left\{ 8mq^2(1-d) + 4q^2 \frac{(d-2)q^2 + 4m^2}{2m} \right\}$$

$$= -C \frac{F_2(q^2)}{4m} 2q^2 \left\{ 4m(1-d) + \frac{(d-2)q^2 + 4m^2}{m} \right\}$$

$$= -C \frac{F_2(q^2)}{4m} 2q^2 \left\{ \frac{4m^2 - 4m^2d + (d-2)q^2 + 4m^2}{m} \right\}$$

$$= -C \frac{F_2(q^2)}{2m} q^2 \left\{ \frac{(d-2)q^2 + 4m^2(2-d)}{m} \right\}$$

$$= -C \frac{F_2(q^2)}{2m^2} q^2 \left\{ (d-2)(q^2 - 4m^2) \right\}$$

$$= \frac{2m^2}{(d-2)q^2(q^2 - 4m^2)} \frac{F_2(q^2)}{2m^2} q^2 (d-2)(q^2 - 4m^2)$$

$$= F_2(q^2)$$

✓  
 What for, if  
 we use the  
 old expression  
 again now?  
 for higher  
 orders (combin  
 e.g. up to 10<sup>5</sup>  
 γ-matrices (n-1)!  
 terms, which were  
 practical; here  
 we could have  
 calculated  
 it directly  
 and identify  
 the (p'-p) term

b)  $F_2(q^2) = \text{Tr}[P_2^\mu(p', p) \Gamma_\mu(p', p)]$  , where now

$$\Gamma_\mu(p', p) = -ie^2 \mu^{4-d} \int \frac{d^d k}{(2\pi)^d} \frac{\gamma^\nu (\not{p}' - \not{k} + m) \gamma^\mu (\not{p} - \not{k} + m) \gamma_\nu}{\underbrace{[(p'-k)^2 - m^2 + i\epsilon] [(p-k)^2 - m^2 + i\epsilon] [k^2 + i\epsilon]}_{= D \text{ (denominator)}}$$

Pull trace out of integral?

$$\begin{aligned} \Rightarrow F_2(q^2) &= -ie^2 \mu^{4-d} \frac{1}{D} \int \frac{d^d k}{(2\pi)^d} \text{Tr}[(\not{p} + m) \gamma^\nu (\not{p}' + \not{k}) \gamma^\mu (\not{p}' + m) \\ &\quad \times \gamma_\nu (\not{p}' - \not{k} + m) \gamma_\mu (\not{p} - \not{k} + m) \gamma^\nu] \\ &= -ie^2 \mu^{4-d} \frac{1}{D} \int \frac{d^d k}{(2\pi)^d} \tilde{T}, \text{ where} \end{aligned}$$

$$\tilde{T} = \text{Tr}[(\not{p} + m) \gamma^\nu (\not{p}' + \not{k}) \gamma^\mu (\not{p}' + m) \gamma_\nu (\not{p}' - \not{k} + m) \gamma_\mu (\not{p} - \not{k} + m) \gamma^\nu]$$

$\tilde{T}$  will be evaluated with Mathematica, yielding

$$\tilde{T} = -\frac{8m^2}{(4m^2 - q^2)^2} \left\{ (2-d)(k \cdot p)^2 + (k \cdot p) (4m^2 - 2d(k \cdot p')) \right. \\ \left. + (k \cdot p') (4m^2 + (2-d)(k \cdot p')) + 4k^2 m^2 \right. \\ \left. - 4m^2 \frac{(k \cdot q)^2}{q^2} - q^2 (k(p'+p) + k^2) \right\}$$

↑ this  $k$  here is unequal to  $k'$  defined before. this  $k'$  is already inserted!

$$= -\frac{8m^2}{(4m^2 - q^2)^2} \left\{ (4m^2 - q^2)k^2 + (4m^2 - q^2)k(p'+p) - 4m^2 \frac{(k \cdot q)^2}{q^2} \right. \\ \left. + (k \cdot p') (-2d(k \cdot p) + (2-d)(k \cdot p')) \right. \\ \left. + (k \cdot p) (2-d)(k \cdot p) \right\}$$

$$= -\frac{8m^2}{(4m^2 - q^2)^2} \left\{ (4m^2 - q^2)(k^2 + k(p'+p)) + 2((k \cdot p')^2 + (k \cdot p)^2) \right. \\ \left. - d(2(k \cdot p)(k \cdot p) + (k \cdot p')^2 + (k \cdot p)^2) - 4m^2 \frac{(k \cdot q)^2}{q^2} \right\}$$

$$= -\frac{8m^2}{(4m^2 - q^2)^2} \left\{ (4m^2 - q^2)(k^2 + k(p'+p)) + 2((k \cdot p')^2 + (k \cdot p)^2) \right. \\ \left. - d(k \cdot p)(k(p'+p)) - d(k \cdot p')(k \cdot (p'+p)) - 4m^2 \frac{(k \cdot q)^2}{q^2} \right\}$$

$$= -\frac{8m^2}{(4m^2 - q^2)^2} \left\{ (4m^2 - q^2)(k^2 + k(p'+p)) - d(k(p'+p))(k(p'+p)) \right. \\ \left. + 2((k \cdot p')^2 + (k \cdot p)^2) - 4m^2 \frac{(k \cdot q)^2}{q^2} \right\}$$

$$2(x^2+y^2) = 2((x+y)^2 - 2xy) = (x+y)^2 + (x-y)^2 - 4xy$$

$$= (x+y)^2 + (x-y)^2$$

$$= -\frac{8m}{(4m^2 - q^2)^2} \left\{ (4m^2 - q^2)(k^2 + k(p'+p)) - d(k(p'+p))^2 \right. \\ \left. + (k(p'+p))^2 + (k(p'-p))^2 - 4m^2 \frac{(kq)^2}{q^2} \right\}$$

$$= -\frac{8m}{(4m^2 - q^2)^2} \left\{ (4m^2 - q^2)(k^2 + k(p'+p)) - (d-1)(k(p'+p))^2 \right. \\ \left. - \frac{(kq)^2}{q^2} (4m^2 - q^2) \right\}$$

$$= \frac{8m}{(q^2 - 4m^2)} \left\{ k^2 + k(p'+p) + (d-1) \frac{(k(p'+p))^2}{q^2 - 4m^2} - \frac{(kq)^2}{q^2} \right\}$$

$$c) 2k(p+p') = 2k' - [(p-k)^2 - m^2] - [(p'-k)^2 - m^2]$$

$$2kq = [(p-k)^2 - m^2] - [(p'-k)^2 - m^2]$$

$$\begin{aligned} \rightarrow f_2(k) &= \frac{8m^2}{q^2 - 4m^2} \left\{ k(p+p') + k^2 + (d-1) \frac{(k(p+p'))^2}{q^2 - 4m^2} - \frac{(kq)^2}{q^2} \right\} \\ &= \frac{4m^2}{q^2 - 4m^2} \left\{ 4k^2 - [(p-k)^2 - m^2] - [(p'-k)^2 - m^2] \right. \\ &\quad \left. + (d-1) \frac{k(p+p')}{q^2 - 4m^2} (2k^2 - [(p-k)^2 - m^2] - [(p'-k)^2 - m^2]) \right. \\ &\quad \left. - \frac{kq}{q^2} ([(p-k)^2 - m^2] - [(p'-k)^2 - m^2]) \right\} \end{aligned}$$

What is  $B_0$ ?

$$d) F_2(q^2) = -ie^2 \mu^{4-d} \int \frac{d^d k}{(2\pi)^d} \frac{f_2(k)}{\underbrace{[(p'-k)^2 - m^2 + i\epsilon]}_{=D_1} \underbrace{[(p-k)^2 - m^2 + i\epsilon]}_{=D_2} \underbrace{[k^2 + i\epsilon]}_{=D_3}}$$

$$= -ie^2 \mu^{4-d} \left( \frac{4m^2}{q^2 - 4m^2} \right) \left\{ \int \frac{d^d k}{(2\pi)^d} \frac{4}{[(k-p')^2 - m^2 + i\epsilon][(k-p)^2 - m^2 + i\epsilon]} \right.$$

$$B_0(x, y, z) = B_0(x, z, y)?$$

$$- \int \frac{d^d k}{(2\pi)^d} \frac{1}{[(k-p')^2 - m^2 + i\epsilon][k^2 + i\epsilon]} - \int \frac{d^d k}{(2\pi)^d} \frac{1}{[(k-p)^2 - m^2 + i\epsilon][k^2 + i\epsilon]}$$

$$+ \frac{(d-1)}{q^2 - 4m^2} (p+p') \mu \int \frac{d^d k}{(2\pi)^d} \frac{2k^\mu}{[(k-p')^2 - m^2 + i\epsilon][(k-p)^2 - m^2 + i\epsilon]}$$

$$- \int \frac{d^d k}{(2\pi)^d} \frac{k^\mu}{[(k-p')^2 - m^2 + i\epsilon][k^2 + i\epsilon]} \quad \leftarrow k^\mu \rightarrow k^\mu + p^\mu$$

$$- \int \frac{d^d k}{(2\pi)^d} \frac{k^\mu}{[(k-p)^2 - m^2 + i\epsilon][k^2 + i\epsilon]} \left. \right\}$$

$$- \frac{q^\mu}{q^2} \left\{ \int \frac{d^d k}{(2\pi)^d} \frac{k^\mu}{[(k-p')^2 - m^2 + i\epsilon][k^2 + i\epsilon]} - \int \frac{d^d k}{(2\pi)^d} \frac{k^\mu}{[(k-p)^2 - m^2 + i\epsilon][k^2 + i\epsilon]} \right\}$$

$$= -ie^2 \mu^{4-d} \left( \frac{4m^2}{q^2 - 4m^2} \right) \left\{ \frac{4i}{16\pi^2} B_0(q^2, m, m) - \frac{i}{16\pi^2} B_0(m^2, 0, m) \right.$$

$$- \frac{i}{16\pi^2} B_0(m^2, 0, m) + \frac{(d-1)}{q^2 - 4m^2} (p+p') \mu \left\{ -\frac{2iq^\mu}{32\pi^2} B_0(q^2, m, m) \right.$$

$$+ 2p'^\mu \frac{i}{16\pi^2} B_0(q^2, m, m) - \frac{ip'^\mu}{32\pi^2} B_0(m^2, 0, m) - \frac{ip^\mu}{32\pi^2} B_0(m^2, 0, m) \left. \right\}$$

$$- \frac{q^\mu}{q^2} \left\{ \frac{ip'^\mu}{32\pi^2} B_0(m^2, 0, m) - \frac{ip^\mu}{32\pi^2} B_0(m^2, 0, m) \right\}$$



$$\begin{aligned}
&= \frac{-ie^2 \mu^{4-d}}{16\pi^2} \frac{4m^2}{q^2-4m^2} \left\{ 4i B_0(q^2, m, m) - 2i B_0(m^2, 0, m) \right. \\
&\quad + \frac{(d-1)}{q^2-4m^2} \left\{ -i(q \cdot p') B_0(q^2, m, m) + 2i(m^2 + (p' \cdot p)) B_0(q^2, m, m) \right. \\
&\quad \quad \left. - \frac{i}{2}(m^2 + (p' \cdot p)) B_0(m^2, 0, m) - \frac{i}{2}(m^2 + (p' \cdot p)) B_0(m^2, 0, m) \right\} \\
&\quad \left. - \frac{1}{2q^2} \left\{ i(q \cdot p') B_0(m^2, 0, m) - i(q \cdot p) B_0(m^2, 0, m) \right\} \right\}
\end{aligned}$$

$$q(p' + p) = (p' - p)(p' + p) = m^2 - m^2 - p \cdot p' + p \cdot p' = 0$$

$$\begin{aligned}
&= \frac{-ie^2 \mu^{4-d}}{16\pi^2} \frac{4m^2}{q^2-4m^2} \left\{ 4i B_0(q^2, m, m) - 2i B_0(m^2, 0, m) \right. \\
&\quad + \frac{(d-1)}{q^2-4m^2} \left\{ 2i(2m^2 - \frac{q^2}{2}) B_0(q^2, m, m) - i(2m^2 - \frac{q^2}{2}) B_0(m^2, 0, m) \right\} \\
&\quad \left. - \frac{i}{2} B_0(m^2, 0, m) \right\}
\end{aligned}$$

$$\begin{aligned}
&= \frac{-e^2 \mu^{4-d}}{16\pi^2} \frac{4m^2}{q^2-4m^2} \left\{ 4 B_0(q^2, m, m) - 2 B_0(m^2, 0, m) \right. \\
&\quad + \frac{(d-1)}{q^2-4m^2} \left\{ -(q^2-4m^2) B_0(q^2, m, m) + \frac{q^2-4m^2}{2} B_0(m^2, 0, m) \right\} \\
&\quad \left. - \frac{1}{2} B_0(m^2, 0, m) \right\}
\end{aligned}$$

$$\begin{aligned}
&\downarrow d=4 \\
&= \frac{e^2}{16\pi^2} \frac{4m^2}{q^2-4m^2} \left\{ 4 B_0(q^2, m, m) - 2 B_0(m^2, 0, m) + 3 \left\{ -B_0(q^2, m, m) \right. \right. \\
&\quad \left. \left. + \frac{1}{2} B_0(m^2, 0, m) \right\} - \frac{1}{2} B_0(m^2, 0, m) \right\} \\
&= \frac{e^2}{16\pi^2} \frac{4m^2}{q^2-4m^2} \left\{ B_0(q^2, m, m) - B_0(m^2, 0, m) \right\}
\end{aligned}$$

Why not  $d=4$ ?  
 → here, we could have set  $d=4$  from the beginning (finite), as in leading order, Feynman doesn't contain divergences ✓

$$e) F_2(q^2) = \frac{e^2}{16\pi^2} \frac{4m^2}{q^2 - 4m^2} \left\{ \underbrace{B_0(q^2, m, m) - B_0(m^2, 0, m)}_{2(y-1)G(y)} \right\}$$

with  $y = \frac{4m^2}{q^2}$ ,  $G(y) = -\frac{1}{\sqrt{y-1}} \operatorname{arctan}\left(\frac{1}{\sqrt{y-1}}\right)$

$\mapsto \lim_{q \rightarrow 0} \hat{=} \lim_{y \rightarrow 0}$

$\mapsto \lim_{q \rightarrow 0} F_2(q^2) = \frac{e^2}{16\pi^2} \lim_{q \rightarrow 0} \left( \frac{4m^2}{q^2 - 4m^2} \right) \lim_{y \rightarrow 0} \left( 2(y-1) \frac{1}{\sqrt{y-1}} \operatorname{arctan}\left(\frac{1}{\sqrt{y-1}}\right) \right)$

$= \frac{e^2}{8\pi^2} \lim_{y \rightarrow 0} \left( (y-1) \frac{1}{\sqrt{y-1}} \operatorname{arctan}\left(\frac{1}{\sqrt{y-1}}\right) \right)$

$\frac{1}{\sqrt{y-1}} = x \quad \lim_{x \rightarrow 0} \frac{\operatorname{arctan} x}{x} = \lim_{x \rightarrow 0} \frac{1}{x^2+1} = 1$  (l'Hospital)

$= \frac{e^2}{8\pi^2} = \frac{\alpha}{2\pi}, \quad \alpha = \frac{e^2}{4\pi}$

Alternative: Taylor the expression  $\operatorname{arctan}\frac{1}{\sqrt{y-1}}$  in  $\frac{1}{\sqrt{y-1}} \approx 0$

$\mapsto \frac{4m^2}{q^2 - 4m^2} 2(y-1) \left( -\frac{1}{\sqrt{y-1}} \operatorname{arctan}\left(\frac{1}{\sqrt{y-1}}\right) \right)$

$= \frac{1}{\frac{1}{y}-1} 2(1-y) \frac{1}{\sqrt{y-1}} \operatorname{arctan}\left(\frac{1}{\sqrt{y-1}}\right)$

$= \frac{2y}{\sqrt{y-1}} \left( \frac{1}{\sqrt{y-1}} + \mathcal{O}\left(\frac{1}{y^2}\right) \right) \rightarrow \frac{2y}{y-1} = 2\left(1 + \frac{1}{y-1}\right) = 2$

Why connected f)  
we  $g = 2(1 + F_2(0))^2$   
 $\mapsto$  Peskin Schröder,  
Chapter 6

We thus find  $F_2(0) \stackrel{\text{theo}}{=} 0,001161714913$

which differs from the experimented value

$F_2^{\text{exp}}(0) = \frac{g-2}{2} = 0,0011596524(4)$  by about 0,2%